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Name:
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Order of Operations (E) Answers

Perform the operations in the correct order.

1. 5342.1—(6.1-1.9)46.7 6. (7.7—5.7) x 8.8 —3.2+8.2
=9.9 =22.6

2.83+9.4—((1.8%8.5)+8.5) 7. (74-2.6)+(3.6+12)+8.4
=15.9 =10

3, 4.5§<6.4+1.2+9,3»—~1.3 8. 1458.2+8.7x3+2.7

4. 5% (2% 1.5)~(0.2x6) 9. (9.4—-0.4)+(5.8+13—-5.6)
=138 =6

5. (6x1.5)+ (5% (2.8+1.4)) 10. 7.9 x (6.6 —4.5+9.9%)
=0.9 =94.8
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Order of Operations (B) Answers

Perform the operations in the correct order.

0539 (3.3-34) x33) 6. (1.34+6.2) X5.6+8.4—7.6

=05

. 9.4%(9.5+38)+57—45

=24.7

. 1.84+6.2+4+3.440.3+8.2

=19.9
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7.5.742.9+02—(9.9+1.1)
=112

.

8. 9.3 2 (5.6— ((5 % 0.5) x 0.6))

9 8.4—(0.141.6+52+08)

=0.7
. (3.840.6) x (7.5 (5.4—3.8)) 10. 4746 x5.9— (5—0.6)
=52.8 =357
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